: Erbijsommen tot 100 met drie decimalen

Rekenen - Bewerkingen

Oefening 1
3,984 + ____ = 61,353 ' 7,894 + ____ = 38472
Oefening 2
87,647 + ____ = 98105 ' 45256 + ____ = 90,435
Oefening 3
32,860 + ____ = 84384 1 16691 + ____ = 19,878
Oefening 4
18624 + ____ = 96,961 1 23,469 + ____ = 28109
Oefening 5
19,882 + ____ = 30,087 1 22,429 + ____ = 69,876
Oefening 6
43,2711+ = 67,821 1 5203 + = 96,488
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Oefenblad: Erbijsommen tot 100 met drie decimalen |

ANTWOORDEN

Rekenen - Bewerkingen

Oefening 1

31,984 + 29,369 = 61,353 i 7,894 + 30,578 = 38,472
Oefening 2

87,647 + 10,000 = 98,105 E 45,256 + 45,179 = 90,435
Oefening 3

32,860 + 51,524 = 84,384 E 16,691 + 3,187 = 19,878
Oefening 4

18,624 + 78,337 = 96,961 i 23,469 + 4,640 = 28,109
Oefening 5

19,882 + 10,000 = 30,087 i 22,429 + 47,447 = 69,876
Oefening 6

43,271 + 24,550 = 67,821 E 5203 + 91,285 = 96,488
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